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. Prove the identity

PR F
OAST EXOMLATION QUESTIONS ! TRLL LDBNTITIES + Eang

(sinx + cosx)2
. sinx cosx

=2 + sec x COSEC X. (N88/P1/3)

- Two acute angles, o and J, are such that tan o = 2 ; and tan (o + [3) —i.;-Witﬁoﬁt evaluating

o or B, (i) show that tan p = 7, (ii) evaluate sin c. and sin j, (111) evaluate sin’ 2¢. + sin? 2P.
(N88/P2/3b)

The cartesian eqhation of a certain curve can be written in the form (x; 1)2 + (y:—- 3) =.'1;
Given that x is defined parametrically by x = 1 + cos 8, and that y = 2 when 8 ='§, express y
in terms of 6. (N88/P2/8b) ' o

Prove the identity cos x cosecx + sin x sec x = GOSEC ¥ Sec X. (J89/P1/6)

. Find the cartesian equation of the curve which is defined parametrically by x =3 sin’ ¢, -

y=cos ¢, (J89/P2/8bii)
Prove vthe identi_ty_(sin x +cos x) (1 — sin x cos x) =sin’ x + cos® x. (N88/P1/6)

» Given that sin 4 = 1 , find, without using tables or a calculator, the values of (i) cos 24,

(ii) cos 44. (N 88/P2/6a)

- Prove the identity (sec x — tan x) (cosec x + 1) = cot x. (J 90/P1/4)

The Cartesian equation of a curve can be written in the form (y - 1)* — (x + 2)* =1. Given
that x is defined parametrically by x = tan 8 — 2, and that y = 0 when 0 = 0, express y in terms
of 8. (J90/P2/8b) N

Given that tan 4 = p ‘and that 4 is acute, obtain an expressmn in terms of p, for (i) sec 4,
(if) cosec 4. (N90/P1/2)

sin(A-B) _

AT E) 7, show that tan 4 = k tan B and state the value of £. (N90/P2/4a)

vaen that ————

‘The parame’crlc equations of a curve are x = cosec 0 — cot 0, y = cosec 8 — 2 cot 0. Express
cosec O and cot O in terms of x'and y Hence obtain the cartesian equation of the curve.
(N90/P2/8¢c) '

Prove the identity cot? 8 — cos? 8 = cot’ 6 cos® 6. (J91/P1/3)
Given that p = cos 4 + sin 4 and g = cos 4 — sin 4, (i) show that p* — ¢* = 2 sin 24, (ii) find
the numerical value of p* + ¢, (iii) express % in terms of tan 4. (J91/P2/3a)
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